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PART-A : GENERAL INII-HIH-W{'} & (C) xrprgx [{D}rhmnl

REASONING  (HFT-%

e m’rnmmtl ( a survey conducted

a M‘ m 0 anmm‘!ﬂﬂu 5 I a::sunt n the Venn diagram

1 riven  below wdy T ram and answer the
|1I:|...1'| i

the followss.- diagesmsrepresemis—thie | guestion,

——— ’[Emu relationship between Doctors, Specialist Which of the following represents Govt. servants who
Doctors and Patients? are tax payers, but are neither females nor graduates?
fafafle & & #i7 a1 snw s, e wan # T 71T ow gdwOT & AUR W S gEe
By 3t vt & dr wf Wy i i T Frt 39 o Rw v & ana A i
(A @ (B) 55 fismaEsraam IRk nas T g

| SIS Tfaf@e & & ¥ 37 s sAafaEt &5
© (Do ® O Zufta & o & arer e € P o @ & Afpand #
7 e

2. Mona is 6 years younger 10 her husband and he is §
times as old a5 his daughter Rina, If Rina was § years
old 3 years back, what is the present age of Mona? 7

1

Frem e ofer & 6 a6 v ¥ sttt 3w of g
Fraeft ot O & o o ) 7R 5 ok o few sk

! .
1
i o, 3t s Fr ek g w \QT%Z
(A) 30 \\. Fernales [ i
|

G-::rf Cervants [oTeTd Wiyl
(A) 12 (B)6

3. 1678 = 83, 476 = 75 and 567 = 80, what is 369 =7 .
If% 678 = 83, 476 = 75 3T 567 = 30, A 360 frmds | (O) 3 W
I Directions :

(A) I8 (B) 72 In the following Two questions, if a mirror 15 placed
on the line MN, then which of the answer figures is

5 the right image of the given figure?
i ﬁ‘l‘!ﬁ:ﬁrﬁ%ﬁa;ﬂa‘fﬁ.ﬂmmﬁmm
4. Which numbers complete the series? Y& oF 1@ F, @ & vk IR Jﬂfﬁ'ﬂ Ao
#h W FEad FA W @A #t e wee ampfy Fr v wiafiey aafe?
e g L 7. Question b'igumfﬂi'm‘.

3 T P | W agwn

= Gradisde | Prew

(C) 35 (D) 40

(A)8,7 (B)6.6 M
| KR
(C) 7,6 o 7 ]E
5. Which one set of letters when sequentially placed at Answer Figures Er_rltmfﬁtﬁ' p
the gaps in the given letter series shall complete it? i TV (B) =
Tt T FhT AT HHE WA T O FHAR @A A J1- ﬂ:j
&1 31§ e EaT H 9 HE? | ¥4 il
SGP_Tq_ X pax_gp_X (C) " () Yt
(A) pxrgxr (B) rsqprx 2 B s, e v
v
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8. Question Figure / T8 J'Iffn?l"

(C) ()

M oadshaias N
' L]
%ﬂ L]
Answer Figures | 3T JTepfera:
(A) v 4 (B)
7 i
) it
Directions ;
In the following Six questions, find the odd
word/letters/number pair from the given alternatives.
e Fefaf@a o mat &, Re v Rest & &
T ey st s o g
9. Find the odd number pair.
Frwer w&am g7 &t g
{A) 183 - 54

(B) 108 - 97

(D) 99 - 63

(C) 243 - 132

10. Find the odd letters.

R et Y gfone
(AVKMPT (BYNPS W
]I:’f'}_ﬂiy (MDFIM

11 Find the odd word,
ey g #rgfaw

Eﬂ Captain / ez

(B) Air Marshal /

vy AT

(C) Gmupl.':‘nptajn.f!q‘t‘ti:ﬂ’
(D) Wing Commander /
T waosy

12. Find the odd number
o g &1 giT|

(C) 495

(B) 286
(D) 583

13. Find the odd word.
fawar erez Y g

3

¥ F

- EVA CLASSES B kaner-97/33823

(B) Kite / g9

(A) Square / Z3F

. () Regtangle / HTO | () Rhombus

14. Find the odd letters: '

T et #r qfa |
(CYAGM (MLRX
Directions :

In the following Two questions, which answer figure
will complete the pattern in the question figure?

g MefafEe & mat & F st & 75
wrpfer weer anspfer & wiaew @t g st
I5. Question Figurefﬂﬂ'!l‘l‘fﬁ'f—

5 B

m]

Answer Figures 3507 m'fﬁhi:

3

(B)

(D)

2
2

16, Question Figure / mﬁﬁf-

1 :-:E-I-H--i-
i 3 s
mr= 7
Answer Figures /3ea7 .'mlgﬁ!w
(A) B) [ _
I =
03 J ™
3 ibd
Directions : L
In the following Two questions, a series is given,
with one term missing. Choose the correct
altemative from the given options that will complete
the series.

. Prewfaf@a 2 weat # o apee R
forad v vz g 41 Rw e et # & aw wf
R gfae 3 s # gt

17. 3,17,45,87. 2
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(A) 123 | (B) 153 (B) 134
(C) 183 !{mm \ (C) 135 * (D) 136

18, AZWD, CXUF, ? , GTQJ 22. AZBY: CXDW :: EVFU =7
(A) EUTH (B) EVFPI (A) ZYELU (B) BXWD

{C) EUSH (D) EVSH (C) FUVE

19. The structure shown in the figure 15 made of small | 23. Modeésty : Arrogance ::7

cubes. First, third and fifth layers are made of black e : 3EwIT
cubes and the others are white cubes, How many
cubes are there in the structure? (A) Obese : Fat / PR : AYET

forg o frand o wvaer oY waT & o= §) ogsh.

(B) Speak: L [ AT TS
vt s oferdt o wrt wol & welt § stk e PRGN

mmﬂ_lmﬁﬁmmﬁ (C) Ship : Fleet / 9 : ¥87
] 13'-"3 Dﬂhilit}r:ﬂtmnglh!ﬂﬂ\ﬂ':rﬂ'_‘
M 24, ABDG : ZYWT :: BCEH :? i
n (A) YXTS (B) QPRU

(A) 45 (B) 75 (©) SVXY
‘ (C) 95 !l (D) 23 25, 23:0827 457

A) 12125 B) 08125
20. A circular piece of paper is folded and punched as ) )

shown in the question figure, How will it ar
when opened? ! . e (C) 12025 ‘{Djﬁdllﬁ |

R P kg AR AR | Denige

AR ArgwT o7 w1 R ) afy 3@ e el Sl

il (A) '

Question Figurtsrmﬂrfﬁnri'; A) Reveal / TE HTAT

O @ .rﬂﬁ] (B) Recognise | ATIAT W& HIAT ‘
(€} Reply /Fear &an (D) Extol Aporme &t !

Answer Figures /3097 !Tfﬁ'ﬂ?

Directions :

(A) @ (B) In the following Two questions, a word is
‘ represented by only one set of numbers as given in
any one of the alternatives. The sets of numbers
(C) () given in the alternatives are represenied by two
@ classes of alphabets as in two matrices given below.
The columns and rows of Matrix | are numbered
Directions : from 0 to 4 and that of Matrix Il are numbered from
In the following Six questions, select the related 5 to 9 A letter from these matrices can be
word/letters/number from the given alternatives. represented first by its row and next by its column,
Friéw Prefafaa o At &, e v et c.g.. ‘A" can be represented by 03, 44 etc., and Q)
: can be represented by 55, 78 ete. Similarly, you have

# ¥ AU W wERiEEar & W to identify the set for the word given in questions.

21 43: 57500107
4 Sr. No. 2275568
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i@ & ol & oF v Fw o
ear-weE g e o &, dtar B et A
¥ Rl o A R o b Rt & Re o
Fear-wAp ent & & ot gEnr gvie v §, dar
T =i R are 2 et o &1 smeqy | ¥ wer
3 o wwar 0 3 4 A &k § it g 0
# 5 & 9) g gt ¥ U T WY 9FA IHHY
af¥a 3 a5 F = wua gaEw a5 '
&1 Fameor & fAw CA° ®Y 03, 44 anfy gawT aufrar
ST FFAT & ST Q' WY 55, 78 Wy EEAT FuET
T §1 5 TRE ¥ 3o # B wm F v
THE I TEEar

27. RETAIL

Matric | Matris 11
wEFEl g iy
FRBRED SEEBLE

OIMIC|E [A[L :QUJ‘IE_"F

[[O|E[& B TIE[TIG

2|kfalLMlo] [7lTiElT0lU

F[AILIMIO THULT

4|L MO |RIA] |2 ]TIQ|uU]1|E

(A) 20, 77, 85,21, 13, 57 (B) 77.21,20, 85 57.13

([::;- 20, 85, 77,21, 57,13

(D) 77,8521, 13,57, 20

28. BIRDS

(A) 86, |

(C) 23,75, 12, 87.23

Muaeri ]
W]

M i 1
W

=l

bt
i

(=]
]
™

i e e
-r't!'ﬂ[l-lh-:-

¥
{P[A

F
. 15,23, 68

(]
gu|u
S EEEE

=B -
= Sl | o

i} 9
5 D
F B
A i}
i3 I
E L

e
L

= >
o

g |

(B) 87, 12, 75, 68, 23

l{n}s?_ 75, IE.'ISE.J.']_]

Directions :
In the following Four questions, select the missing
number from the given responses:

& fafle aw mat &, Be v freeaf o
3w W P

1

(B) 24

(C) 18

30.

(Dy 27

B
I

(A) 128 i{ﬂ:}llﬂ !
{(C) 129 (D) 131
Sl || 5| 13
96 | = | 15
™ 7 19 i
(C) 41 (D) 39
3. 16 25 48 §
2 5 3
8 25 36 16
4 5 4 7
(A) 8 (B) 6
l (C)3 ! (D) 12
33, Triangle represents school teachers. Square

represents married persons. Circle represents persons
living in joint families.

Married persons living in joint families but not
working as school teachers are represented by

Frptor freht Rrgrae & sremawt / srenfrsmit
i Zefiar §1 @9 o Prafie =i aviv e ) e
# & mnfda R e ¥ S dqea AR A wa
agEa iR # R T fefye afa o
e # srcars FenfiEnit & w7 F s
A FrsTaT

(A) F 1{3; D
N
(C) A () C
Directions

In the following Two questions, From the given
answer figures, select the one in which the question
figure is hidden/embedded.
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feréer Prefafare o weat &, & ard 3o ot

# ¥ 30 Feaw Inwfa # gfae B ma gl
ver et

34 Question Figure / T HTHTa:

@

Answer Figures /31 m'fﬁl'ﬂ

(D) N

5. Question Figurefﬂﬂ‘ﬂl‘fﬁf:

s

Answer Figures /30a% F$fodm:

(A} (B)
LA F v
(©) o
1 Z]
36, Two statemenis are given, followed by two

conclusions | and 1. You have to consider the
statements (o be true even if they seems to be a1
variance from commonly known facts. You have (o
decide which of the given conclusions, if any, follow
from the given statements.

e 2 e fow e €. o I 2 el | il
Il e e | oy R s | sue e
¥ ot & s W et & e vl g et
g i sk F R e s F A wla
e, o 1 &, s am et

Statements: 1. All pens are Erasers.
wT: | wft o argwTerE (e §
2. All Erasers are Pencils,

2. 7t FrstE () AR E
Conclusions: 1. All Pencils are Pens,
fored: 1. aft AR A= )

I1. Al Pens are Pencils.

i, mfr e SR K

(A) Only conclusion 11 follows. / ¥ae fersmd 11 l‘

6

g
(B) Both conclusions | and 11 follow, / feremt | 3ltT
Il Zr=t )

(C) Meither conclusion | nor 11 follows, / 57 e |

T sl 7 s 11

(D) Only conclusion 1 follows. / e ek | @t
¥

37. A 7 metre long piece of cloth is cut into three smaller
picces. How long is the longest of the three pieces?
Given that
Statements:

I. One piece is 3.70 metre long.
[l. One piece is 1.50 metre longer than another piece
and the remaining piece is 90 cm long.

ww 7 R ok w & gk w e o gt o

T e ¥ 4 A g

Y

I. 379 ¥ T T 3.70 Hiex wF §

Il o% H THF EFY TR W S0 e wEr

3t 4w zaEn 90 AT wF R

At e o AT 7 F wa ww g e we

P )
{A) Statement | alone but not Statement 11 alone is
sufficient to answer the problem. / T &7 3T
¥ & fire ¥ e | g b, P dw
T 1 e
Statement | and 11 both are needed to answer the
problem. / W7 & Iead &40 & AT Fuar | 3l
11, =1 & Fravaw £

Statement | alone sufficient and also statement
Il alone sufficient to answer the problem. / T8

SR FRAT e sy froaa §
3 e 1 ot v qdsT B A

Statement Il alone but not Statement | alone is
sufficient to answer the problem. / W & I=T

& ¥ v Faw Fuer || gdew §, e Faw
weer |

Directions :

In the following Two guestions, from the given
alternative words, select the word which cannot be
formed using the letters of the given word:

Sr. No. 2275568
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i el nat 4 Rr e et 2
aF e 9T 3 B v wem & snewt w v
FTF FET TATAT FTTEAT

38. ORGANISATION
(A) ORGAN ﬁ; ORGANISE J

(D) ORATION

(C) NATION

39. PERAMBULATOR
[{m RAMPANT

{B) LABOUR

(C) MARBLE (D) RAMBLE

40. Four positions of a dice are given below. Identify the
number at the bottom when top is 5.

T 9TE # 4 Fefaat I & ok ) aw © e
# ggar FfT s frac o s wn

Lags

()2 (D) 3

41. Indu starts travelling towards east and stops after 35
km and tums right and walks another 15 km and
again turns right and walk 15 km and then stops.
What is the minimum distance Indu has to walk o
reach the starting point?

g I8 & 30T amn wew wTh ¥ A 35 feeh
TE & AT A AT |5 Rt aaeh # stk Ry
afes Az 15 el sl awet = ol & B
g & 3 I e #1 3w T e & R

30 oA et gft o Sl o
(A) 35 km / fassit (B) 20 km / fissht
(C) 30 km / Rt (D) 25 km / firaft

4% In a peculiar mathematical operation, plus means
multiplication, minus means plus, divided means
minus and multiplication means sum of digits of two
numbers. Follow these rules and solve the following
example,

wﬁﬁmnﬁmm#mnﬂtqvﬂ.
mwﬂ!m.m#mtm#aih‘ﬁm

7

# I & & weHt & et w1 ) oo et oy

IrgaTet §T Faterfare samor #1 aw
(6% 7) (8 x9)— (10 = 11) =7

]H.} 52 (B) 04
() 33 (D) 224

43. A square sheet of paper has been folded and punched
as shown by the question figures. You have to figure
out from amongst the four answer figures how it will
appear when unfolded.

FrTe 1 o TR ofte F e gl F R
ITER AE w97 F R ¥ wRt 3w
FIRToT & #T A fF ate St or o dh
welter gaft?

Question Figures / T

[¥] EET-‘ | ‘
Answer Figures fSﬁﬂ'.‘l‘l‘fﬁ-’{?I"
(A) | (B)
©) |Fom (D) [F =

44, Xissisterof Y. Y is brother ufE_E is husband of P,
0} is father of Y. How is P related to O?

XatfmmYfragmsymkdzom Zafa
P &1 3R O Rar § v &1 a@nd P w0 ¥ Fan gey
&7
li;] Ihughlcr—in—law.fm
(B) Daughlcn’gff
(C) Sister / ager

(D) Uncle / e

45. Sanjith faces towards north tumning to his right, he
walks 10 m. He then tum to left and walks 30 m. He
moves 23 m 1o his right and again to right through 50
m. Finally he tums to right and moves 40 m. In
which direction is he now from his starting point?

Heltd 3ot A 3 Ay w76 T b1 aw o et
IR qFET 10 #r. e &, e ardft i gwe 30
. wam 7w o gt A 25 o aee vy ardt
T 50 #t. Tam 3o # ay grdt 3 FpEEy 40 .
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I/ T HE I TRE A A R A
(A} North-West / Ser-gfvas
(B) South-West / for gffaw

(C) South-East / Zf@or- (D) Norh-East

™ ol

46. Grouping of words are given. Choose the next words
in the series from the given options.

ezt 1 FHF R §| Re v Rt & & w9

& e e I
AFGHAN, INDEFINITLY. SYNOPSIS,
STUPENDOUS, BURST

(A) GLACIAL (B) COMPANION

{C) RESCRIPT "{D} HIJACKER

47. If BHASHA is coded as 154754, BRAIN is coded as
13408, AHINSA will be coded as

IfE BHASHA Y 154754 & w7 & 3y BRAIN Y
13408 & ¥ # F&%a frar e, & AHINSA #Y

" (A} 45034?_}

(C) 458074

(B) 450874

(D) 405847

48. A s elder 1o B while C and D are elder to E whao lies
between A and C. If C is elder 1o B, who is the
voungest?

AFgABF e Tafs CAR DA EEFFTA
IRCHFNMwAR I/ C e 7. O g o
Lo o

(A)C (B) D

49, In a certain language GAMBLE is coded as
FBLCKF, how is FLOWER coded in that code?

v fafires smar # GAMBLE ®Y FBLOKF $é%a
far arar 1 3@ FT # FLOWER #Y 83 sdta

(C) A

T STeaT? |
(A) GKPVFQ ‘mm EMNXDS x
(C) GMPVDS (1) EKNVDO

S50. Which one of the given responses would be a
meaningful order of the following?

o Rt 2 3 ity R e R g e
&1 ardF w e B2
l. estimate / ATHeA 1§

2. contract / W .
3. concept | FEHEIAT
4. plan / TYS=1T
5. execute / regTEeT
1 (A)3.4.1,2, 5_‘ (B)1.4,3,5,2
(C)3,1.2,4.5 (D) 5, 2.4,.3, 1
Sr. No. 2275568

g—m—:ﬁrﬁ?ﬂ



PART-B GENERAL KNOWLEDGE &
GENERAL AWARENESS (NII-® : AT AT 0T

AHTT ATHAHTLN

51 A new molecule Heat Shock Protein 90 (HSPOO)
was discovered in 2014 by the Didier Picard. The
new discovery could help in effective treatment of

mﬁﬂmmﬂhwmm
ZART 2014 # @ar mar mm A% e ek
UHTEEHI 399R & FEEE g Eed i

(A) AIDS / oEw

\ (B) None of these / S8 ¥ wv§ it
(C) Malaria / #afar (D) TB / a1y v

32. Which of the following has become the first airport
in the world to fully operational on Solar Power?

Frfafaa & & t7 w1 Remrress oft e ok
ufEFa ¥ oifaa e w1 s femgsss o=
r

(A) Amritsar International Airport. HHaET

ety RamTe
L{B} Cochin International Airport Lid. (Kerala). j
el Ferd Rreeaeas @ ()

(C) Lokpriva Gopinath Bardoli Intemnational
Airport. | FvfrT Ao arg seredr
AAWYeAT

(D) Netaji Subhash Chandra Bose International
Airport. | daslt ywmwar AW Aty
AT

53. Who of the following is not one of the recipients of
Arjuna Award 20157 -

FfafET & ¥ #f9 Jey WEEw 2015 e
A AR A T At

(A} Jitu Rai (Shooting) / sl T/ (Fremstarshh)
(B} P.R. Sreejesh (Hockey) / .3t sftsrar (ETHr)

(€) Dipa Karmakar (Gymnastics) / YT STRTHT
(i)

Anoop Singh (Wrestling) / 3rqg ﬁﬁ'{flr-h'}

| (D)

54. Professor Ramesh Chand has been appointed as new
full time member of WNational Institution for
Transforming India (NITI) Aayog. He is a

TR W FeRer @ (e s & o
ifas waer & w7 # o, whrg # P
gl iy

(A} Renowned Agriculture Expert / ﬁﬂ!iﬂa' wir
s

(B) None of these / go1#f 3 =¥ it
(C) Renowned English Professor -’ﬁ&lﬂl‘l’ﬂ' Farsh
T
(D) Renowned Physics
wifefr didvay
55. Viruses that infect bacteria are called

Sftarey &1 FhaAor ST+ are Rrropit # w2 w5
&

Professor  / ﬂ'ﬁmi

(A) ﬂasfdinspar:sfifﬂfkﬂm
(B) Basal body / FTenfY® oz

(€) Bacteriophages / Sfraoy Rpsish
(D) Basophils / STt

56. Ihe munor imgation schemes have Cultural
Command Area (CCA) upto

7y o deeet w1 F Fae e e
FFE aw BT i

'(A) 2000 hectares \ (B) 3000 hectares
AT L1

(C) 2500  hectares [/ (D) 1500  hectares
T .G I

57. Which of the following determines whether a group
of organisms that is from the same genus and species
anse from a common source or from differenmt
sources?

Fr=fafae & & st 91 a0 oy e sward
5 wam v 3 wenfa & Shat = W e
T & 377 g vt e it @
(A} Phage typing / Fsisfr owg
E} Biotyping / sfrawsg

(C) DNA hybridization / DNA Fafror

Sr. No. 2275568
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(D) Serowping | dTeT

58. The method of age determination called “radicactive

uranium dating” cannot be used to determine the age
of

ot piffaw Fa FuRE ams w e
ferurer R &1 woir e & e oo & AT
€T fer 3 wwar?

(A) rocks / agwT
(B) minerals on earth / Tﬂﬁ wafs
(C) the earth / fAEY

Fm fossils and plant bodies / St 3T T2y s _l

59, Parliamentary  Government 15
Constitutional democracy in which

FEET AR AT AFas ST rE tE e
e

{A) the legislatures emerge from and is responsible
to the judiciary. / FaawrofasT smaarfasr &

Fnfnfer gl & stk sw wf Rrstar i &

(B) the legislature emerge from and is responsible to
the executive. / Frumaafesr sdnfas @

afnie e & 3 3 iy Rreer aet

(C) the executives emerge from and is responsible
to the judiciary. /| STTfRsT SmaafE=r &
e e & 3t s wi FvteR et b

(D) the executive emerge from and is responsible 1o

the legislature, | FRTTA=T fErawofasr &
anfania el & 3 3w wia R et b

60, In Indian architecture "Surkhi” was introduced by
s e A gt feaa qedr oy
(A) Mughals / 7

a form of

(B) Kushans / Ll

(C) Guptas | 9T
™) Sultanate Sultans / weawra geamwr

5;. In terms of value, India’s exports in Descending
order are

qew & the & wel P & ol o
LG
{A) Engineenng goods. Gems & Jewellery, Textiles.

| sttt AT, To O THWOT, 3

10

EEL

ArepTAT

(B) Textiles. Engineering goods, Gems & Jewellery.
| 7. St BT, T UF AT
(C) Textiles, Gems & Jewellery, Engineering goods,
| TEA, T T AT, Soitterad arA
(D) Gems & Jewellery, Textiles, Engincering goods.
' T T HTHNOT, T, S AL A
62. The principle involved in the absorption of water by
soil is
e ZaRT A & Havior F gafte R s
(A} Suction action / gwor fiFaT
lfj Capillary action / &freT T
(C) Condensation | TeweT

(D) Principle of absorption / FraeioT 7 R

63. If the pressure in a closed vessel is reduced by
drawing out some gas, the mean free path of the gas
molecules will

afe dg ar # Fo Ay e w1 gw w9 w1 R
e, 3 A Jropat & AveT HE 9y =4y g

(A) increase or decrease depending on the nature of
the gas / 3w Y wpfer & FUR W T
TEAT|

(B} decrease /e

|{'['J increase | &I l

remain unchanged | Irgfafda @
64, Which of the following is present in maximum
amount in acid rain?

yrdra at & ffafae # & = swftsaw /mn

. 1

A
(A) HCI
{C) H:CO, (D) HNO,

65. One strategy of allocating kernel memory 1s known

s -
woie A & smiea S ARy s s P

(A} frames allocation / S5 WTAEA

(B) register allocation / e HTaeT
) resource allocation /| HATH HTHEA

F{

Sr. No. 2275568
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(D) slab allocation / Ea FrazT

66. In a simple Keynesian model equilibrium s
charactenzed by the eguality of

AT FART AE i wmarae #r R
Ry wATaT ZaRT aard St i
(A) realized saving and realized invesiment. /
FUEEY T U9 39qey fdw

(B) planned saving and planned investment. /
e aoa e e
FZ'} planned saving and realized investment, /

oo aaa v saaer ol

(D) realized saving and planned investment. /

Iqey TuT v e

67. Which of the following Islands is under direct threat
of rising sea levels due to climate change has
appealed for help from European leaders?

Fwary aftad & HROT TE §U AR T @A
& s At # ¥ w7 ar gdfioway s
& et g sremait 3 weraar $ arfe fr i

(A) Nauru /7%
(B) Marshall Islands / e Edroap

b © Tuvalu !simdsa'mm
(D} Palau / gETS

68. A closed vessel containing some ity at nlrnmp-hmc
pressure and room temperature is placed in a Fast
moving train. The temperature of the gas will

o O T & A v A% FE A AT @
3w A @ F dw wd g b e

ATTHT F41 g
(A) increase or decrease depending on the chemical

composition of the gas / g & yEEARE
WU & HTUT 9T T A7 2T
(B) increase / a¥am
(C) remain unchanged | Fefraffa o .
(D) decrease / e

69. In which of the following year the Gandhi-lrwin
Pact was signed?
Fr=faf@e # & fre of - s st w0
FFameT faFe e

F‘" (8) 1932
{C) 1935 (D) 1929

70. Basic problems of an economy is/are
mrﬁ‘r_ﬁn A FT
{A) Providing Social Security and employment o
/@t F FETTeE g @ iR
I T FHLAT

(B) Decide as to what, how and for whom o
produce. / T, &3 3R frad v samea &
ay # ook s

(C) Elimination of poverty and reduction of
inequalities of income and wealth. / fReferar &7
IR AR I vE wver © Rwerast s
FH HLAT|

(D) Providing basic requirements of life to all. / Faft
Y S A JF AT FAN STASY FOAT

Tl. An organic compound which produces bluish green
coloured flame on heating in presence of copper is
frfafls & & #t7 @ wrifors Aifs o &

Alggalt # wf F o At Gr 1 s
I FAAT L)

(A) Benzaldehyde / dwtfespss

(B) Aniline / ¥R

E‘-] Eh]nmhcnm:n::'m_‘

(D) Benzoic Acid / ¥=sivge TR

72. Demand curve is indeterminate under

At o feed anfie e g b
(A) pure competition / =z wfaeaut
(B) duopoly / gfar- wftrem

(C) nllgﬂpnly /(D) monopoly /
TSR

73. Political Science is a science of

T B fras a2
(A} Political Engineering / Traifars sshforad
(B) Economic Engineering / mm
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(€) Social Engineering / Fmfore s<hforad
(D) Cultural Engineering / ATEpTaE eifead

T4, The Rath temples at Mahabalipuram were built by

Eaer @t #RR W B B
LT T

(A) Cholas / g'&r

(A) Civil

and Crnnminal  cases,
FTIOTUS AT
(B) Terrorism related cases. / Fawag ¥ gafta
HTHw

(C) Disputes between different units of the Indian

Union. / Hﬂﬂﬂﬂﬁm{ﬁlﬁﬂ?m

(C) Chalukyas / H‘Iﬂﬂf

75. Which one of the following Pacts sought to be
resolved the Hindu- Muslim differences?

Frefafae # & B wagld &1 wew fig
AftwH Aawel #1 gagma ar
El Lucknow Pact / 83 TAEET
(B) Gandhi-lrwin Pact / 7rieft- g3 wositar
(€) Poona Pact | AT A
(D) Lahore Pact / aelt wasttar

76. In the absence of the president and Vice—President,
whao discharges the functions of the President?

wrsgafer 3t 39-qregafer #r wpafeufey F e
& Fr) % e Sl war !

(A} Attorney General / 3T TR
L{BI Chief Justice of India / mtqmﬂmﬂm—[
(€) Comptroller and Auditor General / forgw® va
HET AT

(D) Advocate General / 78T HftrT=ar

77. A plant with green leaves placed in red light will
appecar
g ofeaat & o @t F e o b

e &

(A) Red / |18

(B} Green ¢ Bar

[{IH Black e‘mmj

78. The original jurisdiction of the Supreme Cour
covers,
FeATHA AT 1 77 FfE & A =
wfAw

(C) violet / #rft

.,é-;:ﬂ e ‘i‘lﬂ:‘

(B) Pallavas / gewaf e
(D) Chedis / a8y (D) National Integrity of India. /| #aE &Y l'l‘ﬂffﬂ'
HEEAT

79. Which of the following countries has become the
first country in the world w0 receive funds from
United MNations for its fast growing Selar Home
Systems?

Frefefla # & o7 @ 2w o i Al &
fare e g+t avelt Wit a7 worrelt & fve sqee e
# faftr arow w3 amar T &7 woe Sw & T
¥
{A) Afghanistan
HEmiAE
(€} Switzerland / ETatds

(D) Bangladesh / Frramder .
80. Altocumulus clouds occur at altitude of

qaran gt #e el gorar e
(A) 2000 m ~ 6000 m (B) 10000 m - 12000 m

(B) Burma / 5t

(C) 1000 m — 1800 m (D) 6000 m — [HHH m

81. How many times did Babur invade India before 1526
A.D.?

1526 9 & qF aX A WRa W et an
FrwAoT fear?

(A) Two times / 2XaT (B) Four times / IR T

(C) Five times / e a1

l (D) None of these / S# & ®YE 8T

82. Comptroller and Auditor General of India is not
responsible for

wRa F s vd A dEr i e e
BrEr
{A) Accounting of States & UTs, and Auditing of all
Sr. No. 2275568




Government Institutions. / =gt 3T #9 U=
#31 w1 FErEe aur ol g seat
aar oiften

(B} lssuc of money from the Consolidated Fund. /

T Ry & oft v vty
—

C) Regulating Reserve Bank of India. /
s % = Prgme
(D) Making payments to the States. /| T=4f ®Y
HEraT &
83. The directive principles of state policy of the Indian

Constitution is an idea bormowed from the
Constitution of

AT wftur # e Y F s Rz

Rrem fewds afaas @ e e i
(A) Russian / = (B) Ireland / m—\
(C) Australian ! AD) American / 3T

Fireeferar

84. Who among following Indian writers have been long
listed among the 13 intemmational authors for The
Man Booker Prize of 20157

R st dasida s & dn
THT [WER & faw 13 el sawt #r &4
et # var
(A) Arvind Adiga and Shashi Tharcor / Tf¥z
sfzam sttt vffr o
Chetan Bhagat and Jhumpa Lahiri / 997 573
3t g wrfdh

(B)

leaves. /| % ofcadt ¥ o F | A
FTATat g

(€} soil microorganisms deposit it in the tuber. '
qEAS ! 5 F F S H

(D) it is useful for human. | TF A ¥ faw
Tt grar §

86. Which type of molecular motion does not contribute
towards internal energy?

e g 1 Pew afy =1 Al st =
grarEre i grar

(A) Vibrational / Faer
(B) Translational / Tw=TaToT
(C) aninna[:'qﬂﬂ'l

FD} None of these [ g3 ¥ S5 Tft

87. The concept of Liberty, Equality and Fraternity
enshrined in the Indian Constitution is inspired from

HR wfurr # sfeafe e, aw e st
Ty Fr wwew e i b
(A} Irish Constitution / 3mafyer & gfue
(B} French Constitution / ST % ST
(C) UK Constitution / Frfeeer & wftawy
(D) US Constitution / 3@ FeT & wRuer

88. LI-235 belongs to which member of the series?

U-235 ojmrar & e e @ gefta i
(A) Neptunium series/ m Tﬂ'ﬂ'l'

(€} Anuradha Roy and Sanjeev Sahata / FAUT AT (B) Actinium scries / fFeforas ejarar
3R e wger * | (©) Thorium series / atfra eparaT
\":ﬂ] Amitav Ghosh and Amrita Pritam / 3férama o { (D) Uranium series | g
Elih'.!lﬂﬂfflaﬂ 89. Which of the following is not the essential element

BS. Starch is insoluble in water but still it is stored in
large quantity in polato because

HE (T 9elt # gaeta Tt giar st ofr 7w
F # et A A s = wa b

(A) it is synthesized in potato root. /TR
# gitas war ki

(B) it is translocated in the form of sugar from

13

of the State?

fFr=fafae & & w7 o7 = e am A

L3 .
T(A) Institutions / Feard | (B) Government / ST
() Sq.ygn:ign[}l fﬁﬂﬁm [D] P'ﬂpu_]ﬂllun

A HEGT
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9. Who among the following was the Prime Minister of
England when India was given independence?

o0 ¥7T ¥RT w TdEa ey g# 3| 9T
STHE &1 WU A i ar?
/ Eﬂ] Attlee / TEHT

{A) Mountbatten

ATITATA
(C) Wavell / 3=

(D) Churchill /' affs

01, The book "Globalization, Democratization and
Distributive Justice™ has been authored by

TREEESYE.  ETEsenw Al BedegRa
Fftea” AW JEas & duw S §

(A} Anita Nair / sferar AT
IIB} Mool Chand Shamar:{aﬁzm‘l]
(C) Karan Bajaj / %77 T37S
(D)

Salman Rushdies | TAATT S8

92. Which of the following Football teams won UEFA
Super Cup of Georgia on August 12, 20157

frenfafle & ¥ R geate & & 12 I,
2015 Y ST FT UEFA JO9T &9 Sfar

(A) Sevilla / FfreaT

(B) Aulatico Madrid | Jrzwfeey 3y

(€) Real Madrid / frrer Atz

‘{ﬂ'} Barcelona / afEa=T \

93. Antigen presenting cells are specialized cells present
in all of the following, except

witrae Zuie arely Siffe Pafaf@a # &
wgwt Wit g SR g
(B) Spleen / gy

(A) Skin / gar

[ (C) Kidney / 7% (D) Lymph node / FreffeT
E ufr
94. The Vedic literature was composed between
e wnfre € v e e A gd?
Q 2500 B.C and 500 B.C / 2500 §.q. % 500 §.q. iq)
m =l
(B) 3500 B.C and 2500 B.C / 3500 §.9. # 2500 &9
Fdw

3.

AT

SYBTIR

(€C) 3000 B.C and 1000 B.C/ 3000 £, F 1000 £,
g

(D) 3500 B.C and 1000 B.C / 3500 £.q. & 1000 §.q,
Fda

95, The capsule of Anthoceros differs from Funaria, in
that in the latter

TR 1 FoE TR § Rt & e
gram &, arifis s
(A) claters are present / ST g £

(B) e¢laters are absent B Croerifant

{E']' columella is present | SegAaT BT ¥1 1
Y Spbimmelia ik absent /| FTEGART 741 BIATI

96. A dispersion indicates
aferaor iR gaifoa star i

(A} the value of mean, / ATET %7 AT

(B)
()
Cag o)
(D) spread of data around central measure. / ¥H
\ AT & ATHITH BTET &7 @ 7

97. In which type of vulnerability, an unauthorized host
pretends 1o be authorized host by mecting some
authorization criterion?

5w ver @ gigaar A, AT Aoaw FO
WOFR AFEE B 70 FF AFT A5 o=
T AFAT FIAT

(A} keystroke logger / Freghs AT

FB} spoofing / Tk

(€ wnnel / e

the value of mode. / AYE ST A
the value of standard deviation. ! A& faawT

(D) phishing / fsfrT

98. The lethal dose required to kill 50% of the lab
animals tested under standard is referred as

#E & Fepa i AR e waherear gt
& 50% = AR & e et oo gquw

FTETFA g R
(C) 1D (D) MLD
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99. Marginal Revenue is
HATa Tae F g
(A) Revenue realized on the sale of an extra units. /
wiafrs gfae i sk 91w e
(B} Revenue realized on every unit sold. / it o
Wl e 9T W TerEr
(C) Revenue realized from the sale of all units. /
w3t gievet #r farfr & wrew v
(D) The average revenue of a firm. / faret & w1
tea tae

100. If the selling price of a product under perfect
competition is T 25, the Marginal Revenue will be

af% Rt 3o & of wfaeout & anfier Rl
Heg 125§ dvra v R g

(A} more than ¥ 25/ 25 & wftrs
(B) equal to? 25/ T 25 STy

(C) lessthan 225/ 25 & o

Fm 3860/ .L;qJ

15

.&';-a—tszr\‘\ﬂa

ST
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PART-C : QUANTITATIVE APTITUDE (WT97- :
TEATCHS HIHSI)

101. A and B can scparately finish a piece of work in
20 days and 15 days respectively. They worked
together for 6 days, after which B was replaced by
C. If the work was finished in next 4 days, then the

number of days in which C alone could do the
work is

A 3R B arerar-3rer fanslt s e 20 B
AT 15 e & qU &% wwa § s 6 B
Frasr s ik sy e e F AR O C
®Y Fa fa Al w4 RE A qo
T & e C 39 w1 Y e e F o
T av’

(A) 50 days / fier (B) 30 days / faer
(€) 60 days / Reer (D) 40 days / far
Directions :

Study the following table which shows the amount
of money invested (Rupees in crore) in the core
infrastructure areas of two districts, A and B of a
State, and answer the below five questions,

gy . PfafEe affts w1 o fifew
A T s F 0 Gat A ¥ B & &R
FERTOAIHS 691 # v GG ofir (v
FE #) i vk ¢ I PeefRa e mat &
Tt Hif 3T

0 A Disrice foen B
|Core Arca / FITE | 1095 | 1996 | 1995 | 1996

Electricity / Frgf  [815.2 | 1054.2|2065.8|2365.]
{Chemical /TR | 380.5 | 476.7 | 745.3 | 9864
Thermal / W9 632.4 | 5659 |1232.7/1026.3
Solar / W 468.1 | 589.6 |1363.5(1792.1
Emluww 617.9 | 803.1 |1674.3|2182.1
I'mmﬂm D923.1 | 3489.5 | 7081.6/8352.0

102. By approximately what percent was the total
investment in the two districts A and B more in
1996 as compared to 19957

1995 gwem & 1996 # 2t Brat A s B A war
Fordrer sramsrar vy wievere arfrs

16

(A) 14% (B) 24%
! (C) 18% (D) 21%

103. The total investment in clectricity and thermal
encrgy in 1995, in these two districis A and B
formed approximately what percent of the total
investment made in that year?

¥ 2 Bt A sl B 3F 1995, # R st am
Fat & et Fovder 3t ok & oy Fovder v
raar afewre gam?

(A) 55% (B) 52%

104, In district B, the investment in which area in 1996
did show the highest percentage increase over the
investment in that area in 19957

Forar B3 1996 # few &7 & fordwr 1995 & =4t
87 7 Fordwr 71 srflrwow v iy stavfan 2

-

(C)41%

(A) Solar / ®R [-:_BI Nuclear f:ﬁhtq
(C) Chemical / Tm=T (D) Electricity / fazga

105, Approximately how many times was the total
investment in 1995 and 1996 in district B was that
of total investment of district A in the same years?

1995 T 1996 3 foram B & Far forder 34t ot ¥

fRaraA# fﬂﬁiﬂﬂmmw ar?
(A) 24 {B) 2.8
(C)1.9 (D) 1.7

106. If the total investment in district B shows the same
rate of increase in 1997, as it had shown from 1995
to 1996, what approximately would be the total
investment in B in 19977

7fX o B F F fvder 1997 & sl @ gy =2
&t aufem ¥ Braelr 1995 & 1996 7 oo oY, &
Bran B & 1997 % $& Prdw Fawr fraan
g

(A} 210020 crore /&g (B) 78540 crore / w117

l (C) 29850 crore /w00 | (D) 29170 crore / w08

107. H0=<@<9" . tanB +sinB=mand tan O —sin =
Cﬂ Sr. No. 2275568
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n. where m # n. then the value of m* = n’ is
A0 << .ian @ +sinPh = m 3T tan 0 — sin
B =ngEm#n g @m0’ FTAW FATET

(A) 2(m’ + ) rEH i
(C) 2(tan” @ + sin” B) (D) 4 mn

108. A trader lists his article 20% above the cost price
and allows a discount of 10% on cash payment. His
gain percent is
T AT HOR A 9T ST JE #T 20%

it aifa wan & 3R e soraT o) 10% #

pe & b 3% e wionre @ g
(A) 10% (B) 6%

109, If0< A <97, then the value of

1 | ={secA- t:;n.rkj:'
- 00 . 15
2 | cosecA (secA—tanA)

afE0<A<9°,ar
[ 1-(secA-tanAy

=
I

:‘l' S !_cuscc.i{m.-‘k- tm;’*.}_i‘n ol 2
g
(A) O (B) _l
2
(C) 2

‘[D]l ,

110, : x
IF3" Y = 81 and £1" 7 = 3, then the value of ;is

X
XY = Koy = 1 a
Tfy 37 = 81 iy 81 i ar sk R L

g
(A} 17 (B) 1%
17

) 15

34

111. Ifp, g, rare all real numbers, then (p - q) +
r)’ +{r- |1|jJ 15 equal to
i p, g r A IERE FEEG A (p
q)' +(g -0+ (r-p) ek [T Fem?

(AY(p-qllg=ri(r=p) (B)I

g -

17
Spf FATIS
Bl :

Ffl?-:p -q) (g - rl:r--pll (D) 0

Directions :

The bar graph shows the results of an annual
examination in a secondary school in a certamn year,
Answer the following four questions based on this
chart.

fovdar : FoT g3 e # v AmeafaE Rggaa
# o a¥ frd & arfde odem & afomat &
ZeiraT arar ) 5w IR 9T A R armaAtE
Tt AT AT

=3 Boys frmy
T 1004 oy ] Gk feoghed

90
3 .
i E 704 "Tr
gi 60 o
w £ 30 b
H E 40 ¥
§F %] 5

30 :- s

18- | g

i £ | ;'l'_. %
o w VI Vo ]

[n TTR WL 4 | ——

112. The ratio of the total number of boys passed to the
todal number of girls passed in the three classes VII,
Vil and IX is

FaT VI, VI 71X # st @9 e Wt v

wfnat € o FEar w1 s e i
‘w 20:23 | (B) 18:2]
(C) 19:25 (D) 21:26

113, The class having the highest number of passed
students, is

aF wan St At E oy seih St aet Rt
wafts §7

(A) VII [m}x
(C) VIl (D) IX

114. The class in which the number of boys passed 15
nearest to the average number of girls passed per
class, 1s
aF e wi #t & O sl & o Far A
wEar, Iewr wufeat fr ofy war & tea
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e ¥ Pwean it

(A) VI (B) X

115, The average number of boys passed per class is

Il B O wet Y ufy s ¥ 3w W
stw T Est
(A) 75 (B) 72

‘ ()70 | (D) 78
el

116. If a person spends 40% of his income on food, 20%
on house rem and 70% of the remaining on
children's education, then the percentage of his
income left is

i w1k =i el 3 7 40% M O3 20%
T T 9T Oy &1 700 weat € e or @S

FaT &, A IwEr Iy w1 Preer wfres war
(A) 8% (B) 10%

117

" The sum of two numbers is 15 and their

l_.l.|l..|.

.
difference is 4 % - The product of the numbers is

P l .
& wearHt &1 A 15 FLELERLE GO

%—FI HEAIHT FT AVTEA w7 g

(A) 53 | (B) 60
3

() 4% E (Iy) 50
3

118. The radii of the base of a cylinder and a cone are
equal and their volumes are also equal. Then the
ratio of their heights is

T AT 3R o oF & o 1 Ao e
X Fw Irgae ot @A &) A Sed ow

ECRICE IR 10
(A) 1:4 (B) 2:1

119, A sum of Tx was put at simple interest at a certain
rate for 2 years. Had it been put at 3% higher rate, it
would have feiched 300 more. The value of 4x is

Tx & iy 2 ok & faw v e 27 o7 amumer
wr vy & ) 3fr Oy 3% s e o @
AT, @ aw T 300 i g = 4x T HFW T

[
(A) 736,000 FB} 220,000
(C) £24,000 (D) 716,000
120. The value of  [JE=-JI0-J21--55)

|dr'ﬁ--1’1_ﬁ+-4r3_1-ﬂr§_lis
V6 =10 =21 =435 | (6 -0 < /31 - 35
&1 A FATET T

l (A) 10 !l (B) 27

(C) 18 (D) 40

121. From the top and bottom of a straight hill, the angle
of depression and elevation of the top of a pillar of
I m. height are observed to be 60° and 30°
respectively. The height (in metres) of the hill is

wdr vETdt & ofrd it aw & 10 m T @t & ofnk
w1 yaata 1T 3=rae v waw 60° 3T 300
fead & &, ool 0 S (e ) Pesit

(A) 80 (B) 60

l (C) 40 () 30

122. A merchant purchases a wrist watch for T 1,200 and
fixes its list price in such a way that afler allowing a
discount of 10%, he earns a profit of 20%. The list
price of the watch is

TF =t T 1.200 # v wark aft wrfear sy
FaET Jolt AFw 5 v P s e 0%
# §T & & TE T 20% w0 FAT ¥ o w

it 3 g
(A) 21,200 (B) 71,400
' (C) T1.600 ! (D) 71,800

123. PORS is a cyclic quadrilateral, such that ratio of
measures of £ P, 2 Q and 2 R is 1:3:4 then the
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measure of £ S is
PORS TR YT P aqiar 2 P, 2 O 3t 2
R & ATq &7 aeparer 1:3:4 ¥, & 2 S &1 7y w2

LI
(A) 36° (B) 108°
o 198

124. The average age of a class is 15.8 years. The
average age of the boys in the class is 16.4 years
while that of the girls is 154 vears. The ratio of
boys to girls in the class is

frlt Fum  sitwer 3mg 158 ok &) wam # wwt

# sitee 3ry 16.4 af § S wsfeat © st
g 154 aF ¥ Few A IFH oF Fufear &
ECRIGESIE S
(A) 3:5 (B) 3:4
(C) 1:2
s, 1,
It i T-’__ , where x # 0, then the value of
x* =320 52 = 3x=1
el %
x+l=3
afg X > aF x # 0, ar
x4 4320 + 52 4+ 3x41
x* -1 T AT AT R
(A) 2 (B)7
(D)5

! (€) 3 I

126. The sides of a triangle are 7 cm, § cm, 9 cm, then
the area of the tnangle (in cm®) is

ﬁﬁgﬁ'ﬁl_]ﬂlﬁ?cm.ﬂm. 9 cm fﬂTﬁF

T 8AE (cm” #/) Fraam g
(A6 5 an 5
(Cr3o f5 (D) 24 f5

19

TS

127. 1

ar; 16
Ir b | ::.nhenthewMueufa- b+c¢
-— E
3
i5
1
O 16
afy b_’!_- —.d@ra+b+cw AR
= S
T Fr
(A) 6 (B) 12
(D)3

128. Ifx=1+ 2+ fiandy=1+ J2- .f3,1hén

-.1._';'}'_ :..r" .

.
x”
the value of is

X=¥
ayx=1+ 2+ Sialy=1+ J2 - Ji.ar

|
Y oy AT T R

X=Y
(C) 21+ f2) (mz2 2

129. The length of the diagonal BD of the parallelogram
ABCD is 12 cm. P and () are the centroids of the A
ABC and A ADC respectively. The length (in cm)
of the line segment PQ is

AT TP ABCD & Rywot BD $y Fan§ 12 cm
£ P 3T O wa A ABC 3T A ADC ¥ ¥2w §i

Tarae PO &y Jark (om #) et
o |27
(C)6 (D)5

130. A man sells an article at 5% above the cost price. If
he had bought it at 5% less than what he paid for it
and sold it for T2 less, he would have gained 10%.
The cost price of the article i1s

oF sfFe PR I FY J9E JF @ 5% witw
W e 1 Ay 3w e s e se
5% 9 9T 3W W AT HIT 12 & O = g,
ar 38 10% %1 & ATl T w1 ST g
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leneif 4

(A) T200 (B) 7250

131. Ina A ABC, a straight line parallel to BC intersects
the sides AB and AC at P and () respectively such
that AP:PB = 3:2, then the ratio of the area of A
APOQ:A ABC is

A ABC & BC % §#IAT U% @TF 18T AB 3T AC
® wAW: P IR O W 5w v Fredt § i ap
PB = 3:2, @ A APQ : A ABC & 8% T 3]
&7 g

(A) 49 (B) 25:4
132.
Il'.r'l=ﬁ-i,y}l}.thmlhcva[mm‘:‘!

a2 b 3
| X =6x"=12x-8 |,

1] .qlr; .I
afr x Nz
(@ —6x?<120-38

N
- )
| 7 5rmmmmrr.

i
"'l o

(C) 1

. = Ly >0 @&

Fet | s

(B) 1

(D) -1

b |

133. A chord of length 24 cm is at a distance of 5 cm
from the centre of a circle. The length of the chord
of the same circle which is at a distance of 12 cm
from the centre is

24 em ﬁﬂwmﬂﬁtmﬂg# 5 cm #Y
gl s gm M Aharaer RgF 12om

1 ot o3 ¥ 3 dad et b
(A) 10 em (B) 11 ¢m
(C) 12 em () 17 em

134. A cylindrical rod of radius 30 cm and length 40 em
15 melted and made into spherical balls of radius |
cm. The number of spherical balls is

20

30 em P #Y 3iY 40 em Tl dwAER BT FY
AT AT & HR | o s fr Mt o

et & Tt fr g s 2
(A) 90000 ‘[mzmm
(€) 40000 (D) 36000

135, 3
By selling an article at -iu:tf selling price, a trader

incurred a loss of 10%. The profitloss percentage,
when it is sold at the original selling price, is

fret g W el o & 13 o dwe ¥ R

F 10% #r gier gh 7R ¥ A7 et e W
a1 Fvar, A A & efre s e

(A) 32.5% loss / gIfeY " (B) 20% loss / gifer

|fﬂ 20% profit / |

136. If 4 men and 6 women can complete a work in 8
days, while 3 men and 7 women can complete it in
10 days, then 10 women complete it in

afer 4 qew 3R 6 wfped Rt wr # 8 R F
T T TS § Fai® 3 [HW 3 7 AfFA = 10
e # qu &t v £ @ 10 AffEd 3 e
e # qu wHi

E’-‘ll 40 days / fasr

(C) 50 days / et

(D) 120% profit / FATST

(B) 45 days / fiesy

(D) 35 days / f&=r

137. Points A and B are 100 km apant on a highway.
One car starts from A and another from B at the
same time. If the cars travel in the same direction;
they meet in 5 hours. If the cars travel towards each
other, they meet in | hour. What is the speed of the
faster car?

A 3 B g et o3 100 Beht gft o ) v
R A ¥ 3 gEd s7 30 7w B F a7 @
wTcAt {1 A w3 R A werehr € ar s we
e st ¥ afE w1 vw-g@t #r R A gwet
ar | gt # Prach §) O afey fr v Fr afey
3

(A 40 km/hour / 40 firsft afey ey
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(B) 80 km/hour / 80 FEsft afy oo
(C) 70 km/hour / 70 Frsfht wfr gz
(D) 60 km/hour / 60 Fars afey 2T

158, Iftan @ + sec @ = 2, then the value of tan @ is
afE tan 6 + sec © = 2, AT tan O T AW F4T ET?

(A) 4 (B)

w |

(D) 2

a

TR c € .
If —=—=—_ then ecach of them is equal to
b d T =

iy 2.i.0 @ ¥ v frEd T

B d f
g
(A) 3a=3c-7Je (B) a+c-e
b=3d-f b=d-=5f
() a=lc=5e (D) a+3c—%e
b=d-=f b+3d-5f
140, 1115 vilue ﬂ[ ; i :
gin- 2% 4+ sin” 4% + 5in" 6% + ... +sim- 90" is
sin® 2% + sin® 4° + sin® 6° + ...... + sin" 90° BT AWT
(A) 44 ‘ (B) 23 ]
(C) 0 (D) 22

141. AB and AC are two chords of a circle. The tangents
at B and C meet a1 P. IT 2 BAC = 547 _ then the
measure of £ BPC is

AB HT AC v gra #r gy e 1 B st C oy
FET PR AEd di g 2 BAC - 540 d@r e
BPC &T ATY &7 g’

(A) 36° (B) 54°
r (C) 72° I (D) 108°

142. The ratio of the radii of two cylinders is 2:1 and
their heights are in the ratio 3:2. Then their volumes
ar¢ in the ratio

ar Forerst 6 Prsar & s 21§ 3R sy
Farg 3:2 & yqura # §) 39F IngaaAl &
T g

21
<1 FATH S
HrepTi

(A) 6:5 (B) 6:1

(C)4:3 (D) 3:1

143, Let a be a positive integer. When 89 and 125 are
divided by a, the remainders are 4 and &
respectively. Then the value of a is

AT 4 UF UATHE qoirE Fi Fw 80 v 125 #ra
# fanfarar frar smar &, & Srwww waw 4 A6
TEa &1 a T AW T g

(A) 15 (B)9

1[(:}!? ‘ (D)7

144. A can 15 full of a mixture of two liqguids A and B in
the ratio of 7:5. When 9 litres of mixture are drawn
off from the can and replaced by the same quantity
of liquid B, the ratio of A and B in the can becomes
7:9. The capacity of the can is

U &1 2Y TER & aval A B & 75 F s
# frsror & gt ol B R & 9 Ry Mwror
fererer foram e 3l 39 o W oseEt Y AT
AawbmiEmam ardsmHF Ak s
I 729 gr e =y e et Y

(A) 20 litres / firex (B) 10 litres / foyex

(C) 21 litres / Rrex l (D) 36 litres / frex

145. The average monthly income of A and B is
T15,050, the average monthly income of B and C is
215,350 and the average income of A and C is
¥15,200. The monthly income of A is

At frtmaafasama tisoso g s 3 C
fratma s g Uss3so At A v C &y
sitara 3w 115,200 &, @t Ay il g e

4
{A) T15,900 (B) T15.500
(C) 715,200 lTu] 714,900

146. A sum of money placed at compound interest
double itself at 2 years. The year it will take to
amount 4 times itself is

Twghe ST 9 @Y wE i 2 ok A g §
sireht &1 39 4 aom Ty et oF et ank e
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(A) 6 (B) 3

(©)3 ru;}T— jadi s,

147. A man travelled a distance of 72 km in 12 hours.
He travelled partly on foot at § kmv/hour and partly
on bicycle at 10 km/hour. The distance travelled on
foot is

oF S & 72 km g Fr amn 12 g A En 3w
Fifl gmar 5 km ofy gy iy afy & d5w Aty
HITE o 10 km Ry T A ARy S afra o
1 3w Rt ot i ar e 0
(A) 52 km (B) 48 km

(C) 50 km (D) 46 km

148. A number is increased by 15% and then decreased
by 25% and the number becomes 22 less than the
original number. The original number is

Rt wwar # Y 15% g @ € s i 25
T ST § 3R 9 e AE S A 22 AR
aelt 1 AW wea

(A) 140 (B) 100

W g

149. The curved surface area of a cylinder with its height
equal to the radius, is equal to the curved surface
ar¢a of a sphere. The ratio of volume of the cylinder
to that of the sphere is

A= & s Sand et e w5 afvw ol
ATE M & I O sAew & W
st & smaae R M F e w1 e

T g
lihn: J (B) J5:3
(C)3:2 7 (D2 23
150. The value of

(0.013)% +0.000000343 3
(0.013)° - 0.000091~0.000049
(0.013)% =0.000000342
(0.013)% - 0.000091 0 000049
(A) 0.01 (B) 0.03

&1 AT FT Fm

22

ga-“wﬁ—{l

(D) 0.04
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PART-D : ENGLISH COMPREHENSION (HTIT-TT ;
FrET aframn

Directions :

In the following Five Questions, choose the word
opposite in meaning to the given word and mark it
in the Answer Sheet.

151. Unapproachable

{A) withdrawn ‘ (B) accessible ‘
{(C) casual . (D) unclear
152. Misanthropist
l {A) philanthropist (B) zealot
() pragmatist (D) pedant
153. Ostracize
(A) discard (B) shun
(- {C) patronize (D) crucify

“154. Fortify

{A) strengthen (B) intensify
_—___——_'
(C) support . I (D) undermine

155, Abstain

(A) disgrace (B) dismiss
l (C) indulge _J (D) repel
Directions :

In the following Five Questions, four alternatives
are given for the Idiom'\Phrase underlined. Choose
the alternative which best expresses the meaning of
the Idiom\Phrase and mark it in the Answer Sheet.

156. To have an axe o grind,

{A) To criticize someone (B) To work for I:rnl:h

sides '
(C) To fail to arouse interest
L[I.T] To have a selfish end to serve
157. To roll out the red carpet,

(A)to give a warning (B) to decorate the room
signal

] (C)to  give a grand | (D) to buy a gift

23

welcome

158. To put his foot down.

(A) Withdraw &IT}NN to yield
{C) Concede (D) Resign

159. A homet's nest,

(A) among thoms (B) a comfortable position

(C) an

situation

160. Have a foot in the grave.
(A} be afraid to die. \ (8) be close to death. ]

unpl-easaﬂ (D) a dilemma

(C) have no interest in life.

(D) have an incurable discase.
Directions :
In the following Five Questions, senlences given
with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for each
question. Choose the correct alternative out of the

four and indicate it by blackening the appropriate
circle in the Answer Sheet.

161. He quarrelled with his boss,  of the
COnSequences.
(A) devoid '[_{m heedless
(C) weary (D) confident

162. As the driver swerved violently at the tuming, the
wheel came off, as it was already

(A) lost (B) loose
(C) loss ‘ (D) lose
e )

163. The demonstration passed off without

{A) accident {B) coincidence

(C) incidence ‘Em incident

164. Some verbs need a

meéaning.
I\[B]l compliment '

(A) complement
(D) complimentary

to convey the full

(C) component

165, His profession is teaching but his is

Sr. No. 2275568
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photography.

(A) vocative () vacation
(C) avocation { D) vocation
Directions :

In the following Five Questions, four words are
given in each question, out of which only one word
is correctly spelt. Find the correctly spelt word and
mark your answer in the Answer Sheet.
166. Find the correctly spelt word.
{A) Dysfunction (B) Divienation

i

(C) Dastitution

(D) Divarsion

167. Find the correctly spelt word.

T {A) Surveillance (B) Turbulance
(C) Perservarance (D) Obeisence

168, Find the correctly spelt word,
{A) Hyigeinic (B) Hyegicnic

() Hygeinic‘!

169. Find the correctly spelt word,
(B) Auspiscious

{C) Hygienic

{A) Congrruous

(C) Hillarious F:n] Audacious

170. Find the correctly spelt word.
(B) Conteinment

Fﬂ} Cnnsignmm:_]

p =

(A) Conceilment

(C) Confinment

Directions :

In the following Five Questions, out of the four
alternatives, choose the one which best expresses
the meaning of the given word and mark it in the

Answer Sheet,
171. Contentious
{A) precious EB] controversial
(C) benevolent {D) extravagani

172. Conjecture
(A) critic

—_—

l (B) guess
e —

{C) strife (D) gathering
173. Synopsis

(A) preview {B) discussion

{C) repont FD} summary
174. Jinx

(A) juncture (B) tour

(C) taunt | (D) spell |
175. Brazen

(A) modest (B) melodramatic

(C) trashy { { D) shameless

Directions :

In the following Five Questions, a sentence/a parnt
of the sentence is underlined. Below are given
alternatives to the underlined part which may
improve the sentence, Choose the correct
alternative. In case no improvement is required,
choose "No Improvement” option.

176. You should cut off on the amount of cigarettes you

smoke.
E (B) cut down

(D) cut out

{A) No improvement

(C) cut up

177. You must accustom yourself with new ideas,

(A) accusiomed  yourself [ (B) accustom yourself to
with {

{C) No improvement (D) get accustom o

178. Try to lower the amount of fat in your diet.
(A) Lose

179. Mo sooner than it stopped raining, the children went
oul

(B) No improvement

(D) Cut

({A) No improvement
(B) did it stopped raining than
{C) did it stop raining than
(D) had it stopped raining than
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180. | contradicted against him.

{A) contradicted over (B) No improvement
r({:] contradicted with | (D) contradicted
" Directions :

Read the passage carcfully and choose the best
answer Lo each question oul of the four alternatives
and mark it in the Answer Sheet.

Passage ( Five Questions)

Flattery means ‘praising insincerely in order to
please’. Every flatterer says words in which he
himself does not believe. While flattering he is
insincere to the man he is praising and to himself.
In doing so he does not mind if he corrupts the
minds of those whom he flatters.

Flattery is immoral because it stains the human
conscience. It creates a world of falsehood and thus
an outrage of man's sense of decency and
aentlemanly behaviour.

A man who feels happy when flattered lives in a
fool's paradise. Flattery is the ready weapon of the
oppoertunist. This weapon easily congquers the weak
willed man. It works on the general weakness of
human beings. We all love 1o be told what we are
nol rather than what we are. Flattery 15 equally bad
for him who 15 flattered and for him who flatters.

Flattery deceives us by giving us false notlions
about ourselves. By falling a victim to it, we show
lack of character. By accepting flattery we make
ourselves small beings. It is an evil which ruins
social and moral values by claiming what is not
rightfully its own. It thrives on corruption and leads
to human bankruptcy. It is thus the greatest of
disease which can plague humanity.

181. How does flattery deceive us ?
(A) It makes us bankrupt,
(B) It gives us false ideas about ourselves.

(C) It makes us feel indecent.

(D) It makes us more corrupt.
182. Flattery means

{A) claiming what is not

(B) being immoral
(HITS

(C) being anti-social

rﬁ!] insincere praise in order to please

183. "Thrives in the passage means

(A) provides FB} prospers
(C) collects (D) fills

184, Flattery can stain the
fm} human mnsr:icm:c_\ (B) emotion

{C) heart (D) mind
185. How does the weapon of flattery work ?
(A) It conguers the man with a weak will.
{B) A man does not like it
(C) A man feels sad.

{D) It conquers the man with a strong will.

Directions :

Read the passage carefully and choose the best
answer 1o each question out of the four alternatives
and mark it in the Answer Sheet.

Passage (Five Questions)

The destructive process of MountainTop Removal
mining (MTR) has caused permanent damage b
Appalachia. Although the law requires that mining
companies restore the mountaintops after the
mining has been completed, the 1.5 million acres of
mountains that have already been removed cannot
be re—grown, re-built, or replaced. The companies
do secure the rock formations 1o prevent erosion
and landslides, but their efforts cannot recreate the
once beautiful mountain landscape. Furthermore,
while companies are usually vigilant about securing
the rock formations, they seem less interested in
restoring the native wvegetation. MTR operations
clear enormous tracts of forest. Environmental
hazards are not only created in preparing a
mountainiop for mining, they also continue once
the coal has been extracted. After the blast, the
excess mountainiop — which miners refer to as
"overburden™ - is usuvally dumped into nearby
valleys or streams. The overburden contains a
variety of toxic substances, including explosive

residue, silica and coal dust.
186. In the Appalachian region MTR has caused

{A) landslides (B) floods
{C) permanent Yﬂ] widespread damage
beautification
187. The word opposite in meaning to "Vigilant® is
(A) displeased (B) lenient
Sr. No. 2275568



‘{L'j carcless (D) annoyed

188, The term "overburden” means
(A)
(B)

(C)
([}) excess mountaintop left after the extraction of
coal through the blast,

189, Afier the MTR operation, the mining companies
(A) restore native ve 1o,
(B) replace the mountaintops.
k fi it

W\& PR
(D) beautify the mountains.

190. MTR operations cause environmental hazards
because

{A) it destroys natural vegetation

weeds planted by mining companies.
debris from landslides.
remnants of natural forests.

|

(B) it causes landslides.
{C) it causes explosion,

"(D) mountaintops dumped in valleys & streams
contamn toxic substance.

{C) advantaged r (D) evolved

195, Scientific study of Earthquakes

(B) Anthropology

Eﬂ] Seismology
Directions ;

In the following Five Questions, some parts of the
sentences have errors and some are correct. Find
out which part of a sentence has an error and
blacken the circle corresponding to the appropriate
option, If a sentence is free from error, blacken the
circle comesponding to No Error’ in the Answer
Sheet.

196. | reached two hours before he had came.
(A) two hours before (B) Mo error

{A) Astrology

(€) Geography

(C) | reached f.: D) he had came.

197. Three years have elapsed since | had gone to visit
my aunt in the city.

{A) since | had gone to

Directions ;
In the following Five Questions, out of the four
alternatives, choose the one which can be

substituted for the given words'sentences and
indicate it by blackening the appropriate circle in

the Answer Sheet.
191. One who copies from other writers
(A) Antagonist (B) Offender
I {C) Plagiarist (D) Contender
192. The belief that God is in everything, including
nature.
l {A) Pantheism (B) Mysticism
(C) Polytheism (D) Naturalism

193. The study of growing garden planis

(A} nomenclature {B) horticulture

(C) nursery (D) orchard
194. Gradually advanced

{A) evoluted (B) evaded

26

TN o

(B) visil my aunt in the ¢ity,

(C) Three
elapsed

198. He needs not have shouted at me that way.,
{A) not have shouted (B) He needs

years have (D) No error

{C) No error (D) at me that way.

199. He assured me that he will return in an hour.
(A) No error l'i‘, B) that he will return

{C) He assured me {D) in an hour.

200. The car that he is using these days is belonging to

his employer.
(A) No ermor (B) these days is belonging
(C) The car that he is (D) to his employer.

using
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